Apartment in Zurrieq



Zurrieq, South



€265,000

Total Rooms: 5

Bathrooms: 2

Reference No: 240251119-26



¹ Floor Area (m²) : 88

Bedrooms: 2

Apartment - For Sale - Zurrieq

ZURRIEQ - New on the market and very well priced comes this peaceful fully furnished apartment with lift situated in Zurrieq limits of bubaqra area. Property layout consists of a kitchen/living/dining, 2 bedroom, main with en suite, main bathroom and use of roof. Complimenting this property overlooking the front balconies, one can enjoy lifetime unobstructed country views, please note that parking was never a problem in this area. Sold freehold and must be seen. Call agent for viewing

Features

- Automatic door
- Tiled Stove
- Marble Floor
- Soffit Ceilings
- PVC Piping
- Skirting
- Passenger Lift

- Ceramic Floor
- En Suite
- Electricity Utility
- Gypsum Plastering
- 3 Phase Electricity
- Intelligent Lighting
- Double Glazed

Rooms

- Kitchen/Living/Dining : 6 x 4.6 m (27.59 m2)
- Double Bedroom : 3.7 x 3 m (11.1 m2)
- Double Bedroom : 4.7 x 3.8 m (17.86 m2)
- Hallway : 1.9 x 7 m (13.29 m2)
- Bathroom : 1.7 x 1.9 m (3.23 m2)
- Bathroom Ensuite : 1.5 x 1.6 m (2.4 m2)

Gallery





Leslie Gareth Schembri RE/MAX Advantage - Msida

M: 99878640 E: lesliegareth@remax.com.mt T: 21222123

RE/MAX Advantage - Msida Regional Business Centre, Triq Achille Ferris, Msida, Malta